Trig Identities Quiz Review WS #1

Reciprocal Identities:

Quotient Identities:

. _ _ 1 _ 1 _ sin®
sme—csce cos 0 = o tan 6 = s tan 0 = oy
_ _ 1 _ 1 _ cosf
csc = sin 6 sec 0 = cos @ cot® = tan 6 cot 0 = sin 6
Pythagorean Identities: sin> 0 + cos®0 =1 tan?0 + 1 = sec® 0 1+ cot?0 = csc? 0
Verify the Identity
1) sinfcot@sechd =1 2)  csc?0 — cos?Bcsc?O =1
3) tanfcschcosh = 1 4) (sin@ —cosB)(sinf + cosf) = 1 — 2cos*6




5) _sinf  1-cos@ _ 1-cosé 6) secH —cosf sin2@
1+cosf 1-cos®  sin# sechH -
1+ sec’d 14+ 2 ! + : =2csc’ x
sec28 cos l-cosx l+cosx
7) 8)
(1 —-cosB)(1+cosh) = p—
. sin?8(1 + cot?8) =1




